MaTtemaTUKUMH WWanrantaHg 6anTrax
XALWKUr gaanraesap

BapuaHTt Ne 0
Yp AYHI XYCH3rTaHa 6my

1.1. TarwuTranuiiH anraatan 83ryypbiH Toor on x® + 2x* — 8x2 = 0.

1.2 13-T xyBaaxag 4 yngaar, 8-a xysaaxag 3 yngnar, xamrund 6ara
HaTypan Toor on.

1.3 3es rypBamxHbl Tanban 3 6on yr rypsamkung 6arrcaH ayrymH
TanGaur on.
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1.5. 6° < 37 TOHUSTIaN GMLWIMIAT XaHrax XaMrmH nx 6yxan Toor on.

1.6. Tarw eHuert TpaneummH xypL, eHuer Hb arctg(0,2), cyypuygbiH ypT
Hb 17 6a 27 6on TpaneunnH Tandawnr on.

1.7. 4x—7y =29 6a3x + 6y = —12 WwynyyHyyablH OrtonusibiH Uar (X, Yo)
on.
(Yp oyHr XyCHarTaHg 6ud, axnasag Xo, Aapaa Hb Yo)




1.8. |x—1,5|+ |y — 6,5 <3 T3HU3N 6Guwmir xaHrax OXY xaBTram yycax
CYypwunH Tandawur on.

1.9. log:*(x) + logxz(%) > 2 TOHUQTraN Guwnnr xaHrax xamrumH 6ara
7

Oyxan Toor on

1.10. f(x) =x?2—6x— 17 + cos(’é—x) YHKUbIH XaMriH 6ara 6anx x,-bliH
YTrbIr On.

1.11. 4*1 — 3. 2¥1 = 4 TarwMTranuitH xaMrminH Ux A3ryypbiIr on.

1.12. |x* —2x —3‘ =|2x —1| TIrWMTrANIMINH XarMUNH X A3TYYpbIr ON.

1.13. Vx — 2 = ax TIrwmTran wmnngranm 6anx 6yx a — napameTpuinH
yTryyapbir on?







